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1 |dbiEE 6.5E+0 4 5E+0 1.0E+2 2.0E-3 5.9E-2 112.8
2 | EHFE 3.0E+1 7.6E+1 1.1E+2 47E-4 3.4E-2 2185
3 |AFR 5.7E+1 1.0E+2 9.0E-4 2.9E-2 160.4
4 |EEER 7.5E+1 2.6E+2 1.1E+1 9.2E-4 2.7E-2 3415
5 [FEE 3.7E+1 1.3E+2 165.0
6 [WLFE 3.6E+2 2.9E+1 7.8E-6 3.8E-4 387.9
7 |EBE 1.2E+2 3.2E+0 2.3E+1 2.8E-3 4.9E-2 143.3
8 |ZmE 1.4E+2 3.1E+1 3.4E+1 3.4E-3 8.2E-2 205.4
9 [HARE 4.6E+1 8.2E+0 5.7E+1 1.5E-2 2.8E-1 110.9
10 [BEBE 5.8E+1 8.2E+0 3.4E+1 3.2E-3 4.9E-2 100.1
11 [BEE 1.6E+1 4.9E+0 4.5E+1 1.5E-2 2.1E-1 66.4
12 |FEE 1.1E+2 2.2E+1 6.8E+1 5.0E-3 1.3E-1 204.0
13 |REE 3.2E-2 1.1E+1 7.0E-3 6.1E-2 114
IR EEIN 3.6E+1 4.8E+0 3.4E+1 7.2E-3 2.0E-1 748
15 |[FiRE 8.3E+1 7.7E+0 1.1E+1 1.2E-2 1.4E-1 101.8
16 |EE 1.4E+1 2.3E+2 1.4E-2 4.5E-2 239.9
17 |BINE 1.9E+1 1.0E+0 7.2E-4 9.1E-3 20.0
18 [fBHE 3.0E+1 9.9E-1 6.1E-3 1.3E-1 30.6
19 [LLEE 1.5E+1 6.2E-2 8.2E-6 1.2E-3 14.7
20 |[REHE 4.7E+2 1.2E+1 3.4E+1 7.3E-5 1.2E-3 513.9
21 (KRR 6.7E+1 2.7E+0 2.3E+1 5.9E-4 2.0E-2 92.8
22 |ERRR 6.9E+2 1.3E+2 1.1E+1 7.0E-4 1.7E-2 831.6
23 |EmE 1.1E+2 9.6E+0 1.1E+1 3.6E-3 3.6E-2 131.3
24 |=ZER 8.5E+1 5.2E+0 2.3E+1 7.5E-3 1.7E-1 113.3
25 [#HER 3.4E+1 1.6E+1 1.1E+1 61.3
26 |TREBAT 6.5E-3 1.1E+1 6.6E-4 2.8E-3 11.3
27 | KB AF 3.1E-1 1.7E+2 6.9E-2 7.1E-1 170.6
28 |EER 3.7E+0 8.5E+0 3.4E+1 2.9E-2 5.2E-1 46.7
29 |=BR 1.3E+2 9.3E-1 1.1E+1 2.8E-5 9.3E-4 141.3
30 |[FnERLE 1.1E+3 1.7E+0 7.3E-4 1.1E-2 1,070.2
31 |BRE 4.7E+1 2.2E+0 3.2E-4 3.7E-3 495
32 |BRE 9.4E+0 5.9E-1 5.8E-6 8.2E-4 10.0
33 MR 4.9E+1 4.5E+0 2.3E+1 2.7E-2 3.8E-1 76.1
34 [LBR 6.2E+1 3.3E+0 1.1E-2 9.7E-2 65.1
35 [lWOE 8.1E+0 1.9E+0 10.0
36 [EER 8.7E+0 1.3E+0 10.0
37 |FBIIR 8.6E+0 1.6E+0 2.1E-3 2.0E-2 10.2
38 [BIER 9.3E+0 7.9E-1 2.3E+1 6.0E-5 41E-3 32.7
39 |H4E 1.6E+2 2.1E-4 2.1E-3 160.0
40 [ERR 1.1E+2 8.8E+0 3.4E+1 2.3E-2 3.5E-1 157.2
M |[EER 8.5E+1 1.5E+1 7.1E-4 45E-3 100.1
42 |RIGE 3.0E+1 30.0
43 [BERER 1.0E+2 2.7E+1 5.6E-5 8.1E-4 130.0
4 | KH R 2.8E+1 1.9E+0 6.7E-5 1.6E-3 30.0
45 [EiER 4.0E+1 40.0
46 |EEBE 2.1E+1 2.9E+1 1.1E+1 2.8E-5 1.0E-3 61.3
47 [hER 2.9E-1 1.1E+1 9.5E-4 2.8E-2 11.6
ESE 4. 5E+3 1.4E+3 9.8E+2 2.7E-1 3.9E+0 6,878.0
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